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@) Questions :9 Sub. Code : [ 21615/ 6
Exam. Code : [(0/3[0]7
Master of Arts [Economics)] 1% Semester
1128
MICRO ECONOMICS-I
Paper-MAECO0-101 (In all Mediums)
Time Allowed : Three Hours] [Maximum Marks : 80

Note :— Attempt five questions in all, including Question No. 1 which
is compulsory. Choose one question each from other four

. Units respectively. Each short answer type question carries

2 marks and long answer type question carries 15 marks each.

1. Attempt any ten short answer questions in 25-30 words each :
(i) Define Static equilibrium.

(ii) What is the Second order condition of Consumers
Equilibrium ?

(iii) What is an Indifference Map ?

(iv) Define General equilibrium.

(v) What is Veblen effect ?

(vi) Why do people gamble ?

(vii) Write a short note on Hidden Actions.

(viii) Write a note on Cash Subsidy in the light of Indian
Agriculture.

(ix) Define Price Effect.
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(x) Write a brief note on Consumer Surplus.
(xi) What do you mean by Network Externalities ?
(xii) Write a note on the Learning Curve.
(xiii) Write a note on Substitution Elasticity.
(xiv) Define Economies and Diseconomies of Scale.
(xv) What do you mean by Multiproduct Firm ? 10x2=20
UNIT-I |
2. What do you mean by Stable Equilibrium ? How do Walras

and Marshall Approaches achieve stability of equilibrium ?
’ 5,5,5

3. How do the parents of the students make decisions while
sending their wards to join MA Economics in Universities or
Colleges ? Discuss it in the light of Mankiw's Principles.

: - 5,5,5

UNIT-II

4. . "An ordinary demand curve may or may not slope downwards
to the right but compensated demand curve always slopes
downwards to the right". Comment on it. 7,8

5.  Derive the indifference curve by using the Revealed Preference

theory. | - - 15
UNIT-10 |

Write a detailed essay on Risk Return Trade off. 15

7. Whatis Asymmetric Information ? How it leads to the problems
of Moral hazard and market failure in the case of health insurance ?

5,5,5
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- UNIT-1V
8. Distinguish between returns to a variable factor and returns to

scale. Why a rational producer likes to operate in the second
stage of Law of returns to scale ? : 5,10

9.  Modern empirical studies have found that long run average cost
curve (LAC) is L-shaped. How would you explain it ? Does
it contradict the U-shaped long-run average cost curve of the

traditional cost theory ? iy

(=S wrem) |
AT :— v g& 15 B afraed @ #1 wied S FJo 9" g
Y| T =R IS F IAF H T I T FR
Yo g IOX YIT B 2 & & qn ¥ Sw wE
15 3% 21

1. #1210 @Y SR Y9, TAF @ 25-30 Il H A -
() R wge B g X |
(i) ST  HgAT B qEA A Ruld @ ?
(iii) Serf=ar wARE 91 8 ?
(iv) GWFT Sge $ aRwIt |
-(v) d909 (Veblen) y9@ &1 8 7
(vi) & Sifem 0 I & 7
(vii) f&d g€ framsll ) wF i@ Are ford |
(viii) AT FY F FFE H THT GlewS! W T Al ford |
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(ix) o4 99E d1 gioia X |

(x) T SRR W TE G A B

(xi) Aza® aEhe S @ AP 2 7

(xii) T T ] T AT o

(xiii) JidRTT O ) T Ale /i

(xiv) Thel it sefeqaearslt SR AR srferawamsti 1 aRenid #2 |
(xv) FeddisTe wH U T A B 7 10x2=20

gRe-1
2. RoR dgem o o S 8 ? aere (Walras) 3 Ameia
gfteho FqaT 1 Ratar 4 g w1 § 7 5,5,5

3. I v A fvafiaem @ S ¥ WU smAREe § et
o & forg I e AR frofe $3 97 & 2 39fka (Mankiw)
& Rraidl 1 e 7 ==t w+¥) 5,5,5

fFe-11
4. “UH YR HAT T I8 MR AR P A AT 2 I7 ST A

%ngma%sﬁwa%aﬁ?#ﬁﬁmm%t
Wh W fewlt w1 7.8

5. m‘m%@awmwmﬂmmﬁl
. | 15

eI
6. @%ﬂﬁtﬁwmwwﬁﬁaﬁw%@n 15

IEAA AR 1 2 7 TR 9 B e § ug IRNE g
M TR Faherar & qEEEN F1 AR Y S 2 2

5,55
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8. FUuwd Fw M T Red qur Red « @ 3 7w six we
T @ AT Ieaew dd B aww Red 3 7 3 g
TR TR R A1 i g6 5@ & 7 5,10

9. YT NI FemEt F gar 7o £ B win <A s ani
IF (TTQHL) T X H7 81 19 369 TR DY H3T | 74
T8 T A0 Rigia & g-aR 9 oy @ 0% 991 a9
d AT T B BRI B @ 7 ‘ 5,5,5

(Jreft nigee)

8¢ :— YFs 399 17 & st 3 § mvs a9e 32 o ¥ yms
9| Tolt g9 gleet 9 3. T fi¥x yms &t 9= a1
a%aw@%aqﬂsézrﬁaaam%éaw@?aqmé
15 vig 5| '

1. &ﬁlﬂmeﬁaqﬂﬁ,aﬁamz&%mﬁga‘%:
(i) AfaT Azss § ufesiz a9
(i) w339 ¥ H3ss & gt vudt Afast ot 3 9
(iii) GeHissT mam o 3 2
(iv) »mi Figws § ufsefz a9
(v) 2585 (Veblen) yge af & ?
(vi) 3a u3T 38 Ta= T8 7
(vii) feuitot JEoit fafouret a3 g Aftuz &2 fog
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(viii) 3793t AStardt € JAst €9 saw RafAst g9 fFa a2 sy
(ix) ¥ yge § ufssfas ad|
(x) wUsSEx9 AIUSH '3 fEx Aoy d¢ f&u
(xi) 32T Fodtus 3 3T & FT I 2
(xii) BIféar a9 I f¥x &2 fou|
(xiii) yfsraus Sga3 g9 fEx & fou |
(xiv) AAE Eoit nigafeerart i3 d9-nigafeera § ufsis
&9 |
(xv)mmgma"r@eﬁ‘? 10x2=20
gfse-1
2. AfEg AZ®s 3 3T o I* I 7 THIA (Walras) M3 HIRS
@ﬂéﬁiﬁgﬁﬁﬂhﬂ?ﬁ%maﬁ%aﬁ? 5,5,5
3. 2 dfonit § galesinet 7t awat &g win. 2. fedsivar &g
TUE BT BT 3 I HI-UZT SAF fx® BT I3 7 Nafae
(Mankiw) ® froist &t Smat g o99r &51 5,5,5
o ge-n
4. e FOas H TET H U 35 3 @ 3 oot e
?ruamnawnaaaaaﬂmnﬁuﬁ@are?sw@?%l fem

3 féust ag| 7.8
5. Wﬁﬁﬁﬁgﬁ?%ﬁmmmmﬁm@aﬁt
15
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gfse-111
6. wuH Jdegs Tu9 de 3 f¥x fenf3z 3y fadi 15
7.  MRANHS TEardt ot 3 7 o3 dhi @ ved 29 feg 3fsa usfanit
3 Hdale 9 MAS®3T dnit HHG® & I19T fae gaet J ?
; 5,5,5

gfse-1v
8. IJNTE® T9a ¥ faeds ni3 faeas g Aa® feaad »i3d Aure
a3 | & IgaH® E3ued Und 5 facas © I4s € €n Uud
3 ufgg®s J9a" @ urde a9 T ? 5,10
9. Wﬁmwmﬁﬂ#?wmﬁi‘amaﬁﬁm
FAT XS (5. 2. 7) A v = I A femeh fennfim
fa<* &dar ? ot feg uSuaas T3 fHu's € g-orag 3 B
Y 3% 3% @ WA SIS T 9 s T 9y J9v 9 ¢
5,5,5
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